Division par Puissances de Dix (G)

23 +10*

39 =103

80 = 102

85+ 10"

48 + 10*

92 + 10°

78 - 103

19 =+ 10?1

80 =+ 10*

16 ~ 103

Trouvez chaque quotient.

23 +10'=

81+ 10°=

31+ 103

76 + 102

86 +10° =

45 + 10% =

28 - 10 =

29 +~10% =

99 =+ 10!

12 +10% =
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Division par Puissances de Dix (G) Solutions

23+10'=23

39 + 10°=0,039

80 +~ 10%>=10,8

85+ 10" =8,5

48 +10'=4,8

92 + 10° = 0,092

78 +10°=0,078

19+10'=19

80 +~10'=8

16 +10°=0,016

Trouvez chaque quotient.

23 +10'=23

81 +10°=10,81

31 +10°=0,031

76 + 10*= 0,76

86 + 10° = 0,086

45 +10°=0,45

28 +10'=2,8

29 +10°=0,029

99 +~10'=9,9

12 +10%2=0,12
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